Y o7 a2/ RAILWAY RECRUITMENT BOARDS
H € U ot/2008 - w & O - CEN01/2019- NTRC

[Participant ID
Participant Name

Test Center Name

Test Date 05/04/2021

Test Time 10:30 AM - 12:00 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

! o FEEET 2 SAE § 6 @ TuE @ Asar 32
e K AT Ak el

X 2 FIETH AT Froad

X 3 gamErre 3t gfegar

v o\ 3 gl

Question ID : 94891112241
Option 11D : 94891148964
Option 2 ID : 94891148963
Option 31D : 94891148962
Option 4 1D : 94891148961
Status : Not Answered
Chosen Option : --




02 Fg arflE waur - e 3R AIR g THUE F AH FAE0

Ans x *
1. orfE=ry
v 2 farerarar
X 3 Faedr
X 4 9 Y
Question ID : 94891112225
Option 11D : 94891148898
Option 2 ID : 94891148900
Option 3 1D : 94891148897
Option 4 1D : 94891148899
Status : Answered
Chosen Option : 2
Q.3  oHufF ARA AT W 3T A Selee HROH Yo T & Ov W awde & 390 G e
&
Ans
X 1. T (LAN)
v 2 TAuETe (ADSL)
X 5. 3T (Routers)
X + drég (VDU)
Question ID : 94891112232
Option 11D : 94891148928
Option 2 ID : 94891148925
Option 3 1D : 94891148927
Option 4 1D : 94891148926
Status : Not Answered
Chosen Option : --
4 -
U g 4yt =2, Rg (0,4) ¥ P TERAT 81 a F A 1 Hiew
Ans x 1. 8
<25
v 4
<46
Question ID : 94891114569
Option 11D : 94891158276
Option 2 ID : 94891158274
Option 3 ID : 94891158273
Option 4 1D : 94891158275
Status : Answered
Chosen Option : 3




Q.5 1 +tan®8

“ITEE T AT AT SieT]

1+ cot®@
A
s X 1 cosec?8
< 2 sec?p
/<3 cot?B
v tan?8
Question ID : 94891114570
Option 11D : 94891158278
Option 2 ID : 94891158277
Option 31D : 94891158279
Option 4 ID : 94891158280
Status : Answered
Chosen Option : 4
Q.6
RDRAM #T 90T & T 872
Ans X 1.
s e fis veaw A=y (Removable Disc Read Access Module)
2
9w satas 57 " A8 (Rambus Dynamic Random Access Memory)
< 3.
iz so=fas Y57 ©w@ #ef@er (Read Dynamic Random Arrays Material)
X 4
Iz B =7 vy AF (Read Disc Random Access Memory)
Question ID : 94891112238
Option 11D : 94891148952
Option 2 ID : 94891148949
Option 3 ID : 94891148951
Option 4 ID : 94891148950
Status : Answered
Chosen Option : 4
Q.7 "
afg 1.75:x:5:8 &, & x 1 AT #1g Fifew)
Ans x 1. 25
<22
<322
V28
Question ID : 94891114554
Option 11D : 94891158214
Option 2 ID : 94891158216
Option 31D : 94891158215
Option 4 ID : 94891158213
Status : Answered
Chosen Option : 4




Q.8 A serer Tl F #1 10 R F 9@ % woar ¥ 3 B i 38 1 F 20 R F @ o wwar d
A 3t B, 2T T Ty e 3w @ e B # 9@ e w2

Ans

) 2
v 6=
3
1
X2 6-fea
2
X3 6w
1
X 6= e
3
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :
Chosen Option :

94891114561
94891158241
94891158243
94891158244
94891158242
Answered

1

Q9 Trifed Yoot 1 = Es ewaa FfEv 3w 7w et § F 37 g a1 ww fifew,
draly smpta # wea Rieg (?) & T 9 AT "Wl Bl

8 2§ A 3 & 1
4 & s‘ 2 a
Ans x 1. 8
<22
X6
v 7
Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status
Chosen Option

194891112484
1 94891149936
1 94891149935
194891149933
194891149934
: Answered

14




Q.10 Tw 1w et iR st & wOeEE T Fud & T AAEH F AT AT O HER w6 @
g TEae: g g § e i @ @ st aae R R e et & & Fi @ o w8

FUAT T AT FIA 87
FU:

1. o FEa &
2. wefr TEEH A
T

2. o =4 i 8

e X Far ey 13t T8 By 2 uree s=ar §

X2 ey 1 3T 2 3 99T A 2

X 3. Faer Ty 1 9o T 8
v 4 Fae TAsEY 2 9TeT AT 2

Question ID :

Option 11D
Option 2 1D
Option 31D
Option 4 ID

94891112501

1 94891150004
1 94891150003
194891150001
1 94891150002

Status :
Chosen Option :

Answered
4

QN e & Feuas =AAEE & HEd A ¥R e st & TR B wxar 22

M e
X 2 39-egafa
A3 e
K 4 ETET (TATE)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891112229
94891148914
94891148916
94891148913
94891148915
Answered

1




M memmadm T A W, SR dw R T v @ v

Chosen Option :

ans X1 3THA
v 2 qf¥Te Femer
X 3 EH
<4 e
Question ID : 94891112223
Option 11D : 94891148890
Option 2 ID : 94891148892
Option 31D : 94891148889
Option 4 ID : 94891148891
Status : Answered
Chosen Option : 2
Q13 = ST 3T TS (The Origin of Species) ¥ 3@s FiF A7
Ans X 1. 3TEG (Aristotle)
X 2 F=FGIRATH (Confucius)
X 3. worer (Plato)
v 4 =red sifas (Charles Darwin)
Question ID : 94891112213
Option 11D : 94891148849
Option 2 ID : 94891148852
Option 31D : 94891148851
Option 41D : 94891148850
Status : Answered
Chosen Option : 4
Q.14 o .
AR & TadT Fa H R 9 & g8T 9w S 22
Ans :
' 1. =g (Chir)
X 2 RER (Maple)
X 3 AETEAT (Cactus)
< 4 T (Ash)
Question ID : 94891112221
Option 11D : 94891148884
Option 2 ID : 94891148883
Option 3 ID : 94891148881
Option 4 ID : 94891148882
Status : Answered

1




T ool @ feeaw anr gl

Ans -
& 1. =IgAT (Moon)
X 2 g9 (Vega)
X 3. #guT (Altair)
P 4.
v 4 g& (Sun)
Question ID : 94891112211
Option 11D : 94891148841
Option 2 ID : 94891148842
Option 3 1D : 94891148843
Option 4 ID : 94891148844
Status : Answered
Chosen Option : 4
Q.16 1
24+13-5x-x 10— {45+ (17 -2)} & #A A7 Hif=e
Ans 111
<218
Va9
x4 7
Question ID : 94891114552
Option 1 1D : 94891158207
Option 2 ID : 94891158205
Option 3 ID : 94891158208
Option 4 ID : 94891158206
Status : Answered
Chosen Option: 3
Q.17 3 4
s ¥ 0 smyfaw e @1 s@e A S e
e X e ameTs
v 2 At A
3 HET A
< 4 EEr giteRaT
Question ID : 94891112230
Option 1 1D : 94891148920
Option 2 ID : 94891148917
Option 3 1D : 94891148919
Option 4 1D : 94891148918
Status : Answered
Chosen Option : 4




Q.18

3 74T T ATH F4130, 59 W e AER S g7 2

Ans X =
1. 3rET
X2 FRd
/< 3 THA
v TFeEr
Question ID : 94891112224
Option 11D : 94891148893
Option 2 ID : 94891148895
Option 3 1D : 94891148894
Option 4 ID : 94891148896
Status : Answered
Chosen Option : 2
Q.19 . .
Ugelr 9T ST EATHT FT AT AT ST
Ans - X 1. 5.5
v 2586
X3 57
<458
Question ID : 94891114572
Option 11D : 94891158285
Option 2 ID : 94891158286
Option 3 1D : 94891158287
Option 4 1D : 94891158288
Status : Answered
Chosen Option : 2
Q20 gz Fusr i @1 &, TW ARG & TIATAT GAH F IF @ F ARG 9T 27
Ane X1 oifeTEex
2 @rér
X3 e
K4 FT
Question ID : 94891112208
Option 11D : 94891148832
Option 2 ID : 94891148830
Option 3 1D : 94891148829
Option 4 1D : 94891148831
Status : Answered
Chosen Option : 2




Q21 zfy v ==fEa Sz 10 e & 1000 m #r gff 77 =2 & & 3WH 7 kmh F 717 FEw

Ans o' 1. 6 km/h
< 2 2 km/h
<3 4 km/h
/< 4 8 km/h
Question ID : 94891114563
Option 11D : 94891158251
Option 2 ID : 94891158249
Option 3 ID : 94891158250
Option 4 ID : 94891158252
Status : Answered
Chosen Option: 1
Q22 AfeTa @ garr 1957 & yaiRa B smr ggen FE 39w o)
Ans X1 SITERT
v 2. Fdlele -1
X s FEfdT -2 (Cartosat-2)
X+ f¥e -1 (RISAT-1)
Question ID : 94891112231
Option 11D : 94891148921
Option 2 ID : 94891148923
Option 3 ID : 94891148922
Option 4 ID : 94891148924
Status : Answered
Chosen Option : 2
0B =% & FiF W FoF ot F T F 9iEeT F v SR aar
e X PfRreTgen
X 2 JEEEE
o 3 SEAH
< 4 gaeEs
Question ID : 94891112216
Option 11D : 94891148862
Option 2 ID : 94891148864
Option 3 ID : 94891148861
Option 4 ID : 94891148863
Status : Answered

Chosen Option: 3




Q24 Hfrmait & et 7 & 99 Fa gT, 81- 20+ 7 x (30-3 x 9)] 7 7= 7= A
Ans ?(1 30

v 2 40
<30
<420
Question ID : 94891114545
Option 11D : 94891158178
Option 21D : 94891158179
Option 3 1D : 94891158180
Option 4 ID : 94891158177
Status : Answered
Chosen Option : 2
Q.25 A 3t B v @y fAeer G = @ 10 & & 9@ %€ @ €1 B 3R C e wiy et e a
#r 15 R & g = A E A H C wF Ay et s w0 o 20 RE & qm o mea 1 A B
AR C v my e 38w # A e F oW w2
Ans 2
1. 9 —
X1 9— -G
X2 9= faa
13
4
3. 99—
X3 9- G
v 9l
13
Question ID : 94891114562
Option 11D : 94891158246
Option 2 ID : 94891158245
Option 31D : 94891158248
Option 4 1D : 94891158247
Status : Answered
Chosen Option : 4
Q.26 , BOFS To-FAMNA FE=H (COVAX) Tgd & AeUd § #REET 39l oa S arar
g &1 9Ee g &
Ans o 1 ETAT
X 2 e
[
X 3. FESATET
/X 4. HSTd
[
Question ID : 94891112205
Option 11D : 94891148817
Option 21D : 94891148818
Option 3 1D : 94891148819
Option 4 1D : 94891148820
Status : Answered
Chosen Option : 2




27 iaﬂT %H AgcdH WAYEds (HCF) #ra $Fifamw

Ans 1
vz
4
1
p
2
3
K3z
4
4
p
3
Question ID : 94891114547
Option 11D : 94891158185
Option 2 1D : 94891158186
Option 31D : 94891158187
Option 4 1D : 94891158188
Status : Answered
Chosen Option : 1
Q.28 ar FEaTHt I qUEARe 270 §1 AR sAH Fgead FAGEH (LCM) 90 B, & FH Fgea® BATIEG®
(HCF) =g #:ifsrm)
Ans x 1. 2
<24
<35
V3
Question ID : 94891114549
Option 11D : 94891158196
Option 2 1D : 94891158194
Option 31D : 94891158193
Option 4 1D : 94891158195
Status : Answered
Chosen Option : 4
Q.29 v gEaw 21,000 & i 18 3iv 21,200 F 37 & 81 HH B TIOT AT I T Ao
ans X1, 25%
< 2 15%
V'3 20%
< 4 10%
Question ID : 94891114560
Option 11D : 94891158240
Option 2 ID : 94891158238
Option 31D : 94891158239
Option 4 ID : 94891158237
Status : Answered
Chosen Option : 3




¥ e T seTe R TeT # fRvE

Ans (
BRr-ire
X 2 EREs
K3 FeTeTaT
X 4 TEATET 9T
Question ID : 94891112215
Option 11D : 94891148858
Option 2 ID : 94891148857
Option 3 1D : 94891148860
Option 4 ID : 94891148859
Status : Not Answered
Chosen Option : --
3 g @ F IEE Je= &= (systolic pressure) forda ghar 27
Ans 51110 mmHg
/< 2 130 mmHg
< 3. 80 mmHg
v 4 120 mmHg
Question ID : 94891112214
Option 11D : 94891148854
Option 2 ID : 94891148856
Option 3 1D : 94891148855
Option 4 1D : 94891148853
Status : Answered
Chosen Option: 3
Q.32
werer (Pataca) farw e #r HeT 87
e X s
X 2. 9ATAT
v 3 AEE
X 4 AfFmeRr
Question ID : 94891112233
Option 11D : 94891148930
Option 2 ID : 94891148929
Option 3 ID : 94891148931
Option 4 1D : 94891148932
Status : Answered
Chosen Option: 3




Q.33 = oz Rw o § oot T O e e § O € i o o ¥ amee eeg & IO e

Ans 1 @ (String)
X 2 @I (Trumpet)
# 3. A (Drum)
X 4 Frer (Guitar)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

94891112494
94891149976
94891149973
94891149974
94891149975

Status : Answered
Chosen Option : 1

¥ azdr g wigfas gemnst F = 1 9 ww fifEw

ans X1 3025
# 2 5050
< 3 55
W 4 385
Question ID : 94891114551
Option 11D : 94891158202
Option 2 ID : 94891158201
Option 3 1D : 94891158203
Option 4 ID : 94891158204
Status : Answered
Chosen Option : 4
Q.35
fagarer v gfae (VDU) #ar 27
A
" XKL ERT e
X2 FE
v o AT
X 4 {Eer AR
Question ID : 94891112236
Option 11D : 94891148942
Option 2 ID : 94891148941
Option 31D : 94891148943
Option 4 ID : 94891148944
Status : Not Answered

Chosen Option :




Q.36 = sz Ry o € Ot @ & B e @ O € 3 oF s ¥ amee eeg @ wOe e

A 1 el (Movie)
X 2 FTAZ (Comedy)
/< 3. TFAA (Action)
X 4 QATE (Romance)

Question ID :
Option 11D :
Option 21D :

94891112495
94891149980
94891149979

Option 3 ID : 94891149978
Option 4 1D : 94891149977

Status : Answered
Chosen Option: 1
Q.37 o # =2 ow R Ipfaw W = e 9= soues B
Ans
X 1. &= (BHEL)
X 2 T (SAIL)
X 3. wAerHrEr (NTPC)
W 4 3TasEr (ONGC)
Question ID : 94891112242
Option 11D : 94891148968
Option 2 ID : 94891148965
Option 3 1D : 94891148966
Option 4 ID : 94891148967
Status : Answered
Chosen Option : 4
Q.38 sE TER F AT SR AT F TE5T I TGN TET T S T i T wn e
#r ofer foraer g7
Ans X 1. 33 AT
K231 aE
<3 310 o™
W 4 35 T
Question ID : 94891112240
Option 11D : 94891148960
Option 2 ID : 94891148958
Option 31D : 94891148959
Option 4 1D : 94891148957
Status : Answered
Chosen Option : 1




@ 4R 9 gerarearer (Third Proportional) #Ta 1Tl

Ans X' 1. 36
<2 81
- 1
v 3 203
4
X416
Question ID : 94891114556
Option 11D : 94891158221
Option 2 ID : 94891158222
Option 3 1D : 94891158223
Option 4 ID : 94891158224
Status : Answered
Chosen Option : 3
.40 2 :
Q40 /3 43,44 3R Y5 F ¥ W A TEW H AT AiOwaH 32
Ans x 1. ﬁ
f 3
v2 i3
R
X4 \2
Question ID : 94891114553
Option 11D : 94891158212
Option 2 1D : 94891158210
Option 31D : 94891158211
Option 4 1D : 94891158209
Status : Answered
Chosen Option : 2
Q41 ymg & 9¢ ATSRA (Bande Mataram)' #TH& 9T T AT Rhae & o2
Ans x 1 = ﬂ;
v e =g e
X 3. aroTer erRy faeamdt
X 4 3fEe O
Question ID : 94891112218
Option 11D : 94891148870
Option 2 ID : 94891148872
Option 3 1D : 94891148869
Option 4 ID : 94891148871
Status : Answered
Chosen Option : 3




Q.42 10% == T 9X 10 a¥ F [w zuw & 7F B ga’d 97 9od R 4 210 ¥ SR o 0

Berutiie ciaie 4l
Ans 31.31,000
<2 2100
V'3 210
< 4 310,000
Question ID : 94891114557
Option 1 ID : 94891158226
Option 2 ID : 94891158227
Option 3 ID : 94891158228
Option 4 ID : 94891158225
Status : Answered
Chosen Option: 3
Q.43
DOS #T qUT &7 & g7
Ans x 1.
fBwic aifesT f@Tea (Different Operating System)
X2
fEasw HTRfE=T f@T=x (Device Operating System)
v i 35 HOfesT fTea (Disk Operating System)
X 4
fBarsw amsemfEsT fATed (Device Outsourcing System)
Question ID : 94891112237
Option 11D : 94891148946
Option 2 ID : 94891148947
Option 3 ID : 94891148948
Option 4 ID : 94891148945
Status : Answered
Chosen Option: 3
Q.44 zmses @@ RTes W% Fae (United Nations System Staff College) &1 FEaeT wEl U §?
Ans X 1. ﬁ,
X2 T
< e gfea
v o T
Question ID : 94891112235
Option 11D : 94891148939
Option 2 ID : 94891148940
Option 31D : 94891148938
Option 4 ID : 94891148937
Status : Answered
Chosen Option : 2




M e F Y P P O ¥ e & ¥ e 2

Ans o > :
/1. g1 gET (Von Herring)
X 2 & T&FaT (B Skinner)
v 2 SieT gl 347 (Jean Henry Dunant)
X 4 Fufear f&e= (Carolina Millan)
Question ID : 94891112234
Option 11D : 94891148935
Option 2 1D : 94891148936
Option 31D : 94891148934
Option 41D : 94891148933
Status : Not Answered
Chosen Option : --
Q46 4443  21-43
= +——— & HAA A HIAT|
1—+/3 1+v3
Ans «' 1. 4
X2 —243
<34
X 4 24/3
Question ID : 94891114548
Option 11D : 94891158190
Option 2 ID : 94891158192
Option 31D : 94891158189
Option 4 ID : 94891158191
Status : Answered
Chosen Option: 1
Q.47
GGEIT FT Wk Fed i HT 82
Ans .
X 1. @far (Sattariya)
X 2 Farferes (Kapalik)
W 3 IET (Garadi)
< 4 FEW (Karga)
Question ID : 94891112209
Option 11D : 94891148833
Option 2 1D : 94891148834
Option 3 ID : 94891148836
Option 4 ID : 94891148835
Status : Not Answered

Chosen Option :




U8 St & deorn AT Fr TEfA fRES gERT o #r M o

At X 1. uare FEWT (Angel Cabrera)

X 2 Fiar Feir (George Caley)

X 3. TATFET FIT (Alexis Carrel)

v o oerg fafFam (Carolus Linnaeus)

Question ID :
Option 11D :

94891112212
94891148847

Option 2 ID : 94891148846
Option 3 1D : 94891148848
Option 4 1D : 94891148845

Status : Answered
Chosen Option : 4
Q.49 - i ¥ T
f=fofaa 7 @ o gay Sg-U= gaur ¥ 91?
A gt A
X 2. ST HIET
< 3 IFHT AT
X+ gfemay ofafa
Question ID : 94891112227
Option 11D : 94891148908
Option 2 ID : 94891148905
Option 3 1D : 94891148907
Option 4 1D : 94891148906
Status : Not Answered
Chosen Option : --
Q.50 = ew-gew fow ow §, B @ O fee e & de € o ow e ¥ A TE W e
CaiE ]
ars K 1. Y-C
v 2 Z-F
< 3 M-Q
X 4 BF
Question ID : 94891112493
Option 11D : 94891149972
Option 2 ID : 94891149970
Option 3 1D : 94891149971
Option 4 1D : 94891149969
Status : Answered
Chosen Option : 2




2 gl o wrgeaw @A (LCM) e S

Ans 3
1
25
6
2 —
5
3
53z
4
5
<4z
6
Question ID : 94891114546
Option 11D : 94891158181
Option 2 1D : 94891158184
Option 31D : 94891158183
Option 4 1D : 94891158182
Status : Answered
Chosen Option: 2
Q.52 31,000 #r werifar W 20% 1T X & U T @ WhTE TS A HIST, T S I TUET
T TFgRE HUR W Hr S
Ans 1. 3220
< 2 3200
'3 3210
<4 2110
Question ID : 94891114559
Option 11D : 94891158236
Option 2 ID : 94891158235
Option 3 1D : 94891158234
Option 4 1D : 94891158233
Status : Answered
Chosen Option: 3




¥ 3R & RU T Fo aRtEa e 39 9N §

3,4,8,x,x+1,12,14,15

e 3T ST ATETFT 9.5 §, dF x &7 AT A9 Hrierw]

ms X111
X227
<3 4
vig
Question ID : 94891114573
Option 11D : 94891158292
Option 2 ID : 94891158290
Option 31D : 94891158289
Option 4 1D : 94891158291
Status : Answered
Chosen Option : 4
Q54 ofyearer i A aw # FiEes T & TR wRRu F Fr 7S o
Ans 1. 1936
< 21932
< 3 1942
v 4 1940
Question ID : 94891112219
Option 11D : 94891148874
Option 2 ID : 94891148873
Option 31D : 94891148876
Option 4 1D : 94891148875
Status : Answered

Chosen Option

01




Q.55 rETEeeaT aATe (PGTs) - P, Q, R, S 3t T Fur vfif@a wraes aeam=i (TGTs) - A, B, C, D
3R E & ¥ T TeEEt F vF TEE W e TR AT ¥ WF ¥ a4 &g Werdl ¥ v 3o od &

Ans

B &aer C & @y & wog # enffer gem)
A, E I1 Q & @y e a7 @9m D, R & Aty onfier 7@ geml
e & & #ia @ T dae 27

# 1. RSTBCD
# 2 PRSABE
« 3. PQRBCD
v 4+ PQSBCE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112503
94891150009
94891150011
94891150012
94891150010
Answered

1

Q56 et & forw Riemerm F FE g2 F el & fww &1 3eow G w2

Ans

X ZEe
X 2 oger
v oEd

<4 =ter
Question ID : 94891112220
Option 11D : 94891148879
Option 2 ID : 94891148877
Option 3 1D : 94891148880
Option 4 1D : 94891148878

Status : Answered
Chosen Option: 3
Q.57 37 famew @ == Fifaw, FEe WY 7€ F @Y T TEY §, A @ TE @S T A L
e ¥ETEd o @En ; ?
Ans

Ko T

< 2 HgA

<2 g

v
Question ID : 94891112480
Option 11D : 94891149919
Option 2 ID : 94891149917
Option 31D : 94891149920
Option 4 1D : 94891149918

Status : Answered
Chosen Option : 4




Q.58 =@ 2= &1 = A, S e oie s S @end geT & W Todd (LED) wea Fare

AT &2
Ans
K1 g =Y fastelr Orsar
X 2 ‘et TS
X 3 'gog TS
v 4 'SHTET AT
Question ID : 94891112243
Option 11D : 94891148972
Option 2 ID : 94891148970
Option 3 ID : 94891148971
Option 4 ID : 94891148969
Status : Answered
Chosen Option : 4
Q.59 i = 1 3
uﬁ:—+;=2—+;%, ar x F AT AT HIATI
X X
Ans « 16
<28
<3 4
<42
Question ID : 94891114566
Option 11D : 94891158263
Option 2 ID : 94891158264
Option 31D : 94891158262
Option 4 ID : 94891158261
Status : Answered
Chosen Option : 1
Q.60
TIITST AHHAT FY TgeT dSF P JCTETAT PiT FAT 272
Ans
v . FdaEgs 3reTeT (Protem Speaker)
< 2 HeTeT (Speaker)
/3. qurAHAr (Prime Minister)
X 4 regafa (President)
Question ID : 94891112228
Option 11D : 94891148910
Option 2 ID : 94891148909
Option 31D : 94891148911
Option 4 ID : 94891148912
Status : Answered

Chosen Option :

1




8! yma ¥ FE TS F FRET A wiere s e Asg €2

Ans X
. FAEH
X 2 3eat weur
<3 ER
W 4. HEISg
Question ID : 94891112210
Option 11D : 94891148840
Option 2 ID : 94891148838
Option 31D : 94891148837
Option 4 ID : 94891148839
Status : Answered
Chosen Option : 4
Q62 4.3 3:10 3% 10: 21 = Fer 39 (compound ratio) FT T
Ans X 1.14:1
K21:7
v31:14
Ka7:1
Question ID : 94891114555
Option 11D : 94891158220
Option 2 ID : 94891158217
Option 31D : 94891158218
Option 4 ID : 94891158219
Status : Answered
Chosen Option : 3
Q.63 ]
AR ST OF TSFTT FF Y& g o2
Ans 115 3ETET, 2014
X 215 31Eg, 2015
< 3 28 3L, 2015
W 4 28 39TEA, 2014
Question ID : 94891112239
Option 11D : 94891148954
Option 2 ID : 94891148956
Option 3 ID : 94891148955
Option 4 ID : 94891148953
Status : Not Answered

Chosen Option :




Q64 =z FEar 1 TEA HET, S & T ST F weT g (?) F T W 3T T B

4, 7, 13, 22, 34,49, ?

Ans X173
X2 77
<3 64
v 67
Question ID : 94891112483
Option 11D : 94891149931
Option 2 ID : 94891149932
Option 31D : 94891149930
Option 4 ID : 94891149929
Status : Answered
Chosen Option : 4
Q.65 a3t @ frw fandet AT 2021 ﬁmg%m—é:ﬂugmmﬁﬁﬂﬁmamw
wer o e
A X st 9g
X2 ofFg orAT
/3 T g
v o IfEEEa afeEw
Question ID : 94891112207
Option 11D : 94891148825
Option 2 ID : 94891148827
Option 3 ID : 94891148828
Option 4 ID : 94891148826
Status : Answered

Chosen Option :

1




Q.66 & M T & T R o e S W AR 7 F gU, & Fu A AR B ¥ 9 & wew A

Ans

WET Tpid T I3 Hiraw]

EXEH

A Froer af & goer & A % 3o § g 7w gw d
B.&1=R # 3 &1 Hredl 7 I 78 ¥

X1 Fua A 3R B, @ & T=IF FROT §

X2 FUF B FRUT § AR FUT A THFT THT ¢
X3 wud A 3R B, a1 & TEET FRUT & 99 2
v i FUT A FROT & 3R FUT B SHFT IHF g

Question ID : 94891112481
Option 11D : 94891149924
Option 2 ID : 94891149922
Option 3 ID : 94891149923
Option 4 ID : 94891149921
Status : Answered
Chosen Option : 4
Q.67 2011 #r FRTUEAT FH AR, R F A6 FAOF FAAEEIT aTel Ted Hied & 82
Ans «
| feEr
X 2 FERTSE
A3 ofas e
X 4 Hem geer
Question ID : 94891112204
Option 11D : 94891148816
Option 2 ID : 94891148813
Option 3 ID : 94891148815
Option 4 ID : 94891148814
Status : Answered
Chosen Option: 3
Q.68 forh ey W 5% TF &7 ¥ 2 99 & geg Rl 0= R FUROT TS FHA T F| GFAR
Ag FFT
ans X 1. 2550
~< 2 3500
v 32400
< 4 32450
Question ID : 94891114558
Option 1 1D : 94891158232
Option 2 ID : 94891158231
Option 3 1D : 94891158229
Option 4 1D : 94891158230
Status : Answered
Chosen Option: 3




Q.69 37 37 3w F TIF PfAw, S BT v T F 7 F Gy 7 gIaT oo ¥ Bk w1 B

TITerTd, A, Ao g

“ % O0A
Vs ©A

< 000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
03

Chosen Option

94891112497
94891149987
94891149986
94891149988
94891149985
Answered

70 Gmrerre fF (Himalayan Yew) 5@ =T & 9T =mar &7

Ans x.I. *
X2 s
v 5 HTUTETS ST
X o FF AR FeER

Question ID :

Option 11D
Option 2 ID
Option 31D

94891112226

1 94891148904
194891148901
1 94891148902
Option 41D :
Status :

Chosen Option :

94891148903
Not Answered




Q71 37 3R TEg F1 TG HET, S TR e F 95T B (7) F ' WO G 8

2Y28, 7723, 12018, ?, 22E8, 2723

Ans X1 16J12
v 2 17J13
XK s 17H13
< 4 17J15
Question ID : 94891112488
Option 1 ID : 94891149951
Option 2 ID : 94891149952
Option 3 ID : 94891149949
Option 4 ID : 94891149950
Status : Answered
Chosen Option : 2
Q.72 vz =t % ofa i vF gea F oS F AW awa §) 3 A 3 F aEwet w1 A ST
Ans X1 2T
<2 m:2
K3 4T
vim:4
Question ID : 94891114565
Option 1 1D : 94891158260
Option 2 ID : 94891158259
Option 3 ID : 94891158258
Option 4 ID : 94891158257
Status : Answered
Chosen Option : 4
Q.73 s
HHRIOT x° — 11x+30 =0 &F HaA & T AT =]
Ans of 111
<21
<3 30
X415
Question ID : 94891114567
Option 1 1D : 94891158266
Option 2 ID : 94891158265
Option 3 ID : 94891158267
Option 4 ID : 94891158268
Status : Answered

Chosen Option :

1




Q.74 3r swmst F weA FATE (LCM) 3R Agea® WaETass (HCF) o 60 3iX 3 &) afy s &
Tgel WEAT 12 ¢, o 3@l TE A S

ae X120
<210
V'3 15
< 425

Question ID : 94891114550

Option 11D : 94891158199

Option 2 1D : 94891158197

Option 31D : 94891158198

Option 4 1D : 94891158200

Status : Answered
Chosen Option : 3
Q.75 =g Yo #1 aEs sremma fifw A R v et # F 3w wE w7 ame A, S et
s R (?) % TU W 3 WA R

3|18 | 11
12| 24 | 18
? 112 | 14
ae X116
<210
<3 20
v 18

Question ID : 94891112499

Option 11D : 94891149995

Option 2 ID : 94891149996

Option 31D : 94891149993

Option 4 ID : 94891149994

Status:

Chosen Option :

Not Attempted and
Marked For Review

Q.76 ws Y@, & figat (3,4) 3T (4,5) ¥ @S TR §1 IF IW F A W AU (Slope) F HOT I

FiaT

Ans  of 1. 45°
< 2 30°
X 3 75°
X 4 60°

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

94891114568
94891158270
94891158269
94891158272
94891158271
Answered

1




Q.77 35 37 3@ T TIT FST, ST BT 70 T F T F T F G@caF o ¥ GEng =47 B

x((0)
v:OOO

X 3

Ans

Question ID : 94891112496
Option 11D : 94891149982
Option 2 ID : 94891149984
Option 31D : 94891149983
Option 4 ID : 94891149981
Status : Answered
Chosen Option : 2

Q.78 33 ¥7 M@ 1 T AiET, St BT T a9t F & F gy # geeaw o ¥ O s d

= x000

K2

v

~x

©

Question ID : 94891112498
Option 11D : 94891149992
Option 2 ID : 94891149989
Option 3 1D : 94891149991
Option 4 1D : 94891149990
Status : Answered
Chosen Option : 3




Q.79 ol 2021 &, w95 ¥ R quaET (UNEP) & —g@is e &1 THE U9 Hglds Hgrared g I

-
X 1. AFET FET (Mandeep Kang)
X 2 AT FAR (Vimal Kumar)

Ans

X 3. %er =g (Naresh Chandra)
« 4 & a=gr (Ligia Noronha)

Question ID : 94891112206
Option 11D : 94891148822
Option 2 ID : 94891148824
Option 3 ID : 94891148823
Option 4 ID : 94891148821
Status : Not Answered
Chosen Option : --
.80
Q80 pfy fer 797 & &9Fe 1225 cm? &, I 3@ IREW 71T ST
Ans  X71.120 cm
v 2 140 cm
<3 150 cm
< 4130 cm
Question ID : 94891114564
Option 11D : 94891158254
Option 2 ID : 94891158256
Option 3 1D : 94891158255
Option 4 1D : 94891158253
Status : Answered
Chosen Option : 2
Q.81 :
feT 71T gHeuT # n F AT AT FITSTI
2?1.5 x 91.25 i 35 o 3n
Ans x 1. 9
<286
<34
V2
Question ID : 94891114544
Option 11D : 94891158176
Option 2 ID : 94891158175
Option 31D : 94891158174
Option 4 ID : 94891158173
Status : Answered
Chosen Option : 4




V2 oafafET #F ¥ FiF & Ty grasT $r T e

Chosen Option :

Ans K. Femehr
X 2 FhemEr
-~
v 4 TEEiT
Question ID : 94891112217
Option 11D : 94891148868
Option 2 ID : 94891148865
Option 31D : 94891148867
Option 4 ID : 94891148866
Status : Answered
Chosen Option : 1
Q.83
(cosec + cotB) X (1 — cosB) & AT AT HIATI
Ans X 1. cosB
< 2 sech
/< 3. cosech
W 4 sinB
Question ID : 94891114571
Option 11D : 94891158282
Option 2 ID : 94891158284
Option 31D : 94891158283
Option 4 1D : 94891158281
Status : Answered
Chosen Option : 4
0¥ RfRT S T FF & e g ¥ Ter-YwT
& W HAlsg T 7RG &7
A .
" qEeT @
[
X 2 FF @
X 3 FeaRyET o
X 4 FHRT 1@
Question ID : 94891112222
Option 11D : 94891148885
Option 2 ID : 94891148886
Option 31D : 94891148888
Option 4 ID : 94891148887
Status : Answered

1




485 oreg JUNCTION T 4 fieet sestmemsit & e forar e &

Ans

Famer 1: QFMXGRLM
g 2: LYTKDUCD
AT 3: KWQGYOWV

e 4: LWPEVKQP

$H ¥ fhW Fesor # eweg CUSTOMER @ XFHGLNVI foram =rar g2

X 1. T 2
X 2 T 3
X 3. FHEHTT 4

4 THTHTT 1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112476
94891149902
94891149903
94891149904
94891149901
Answered

4




Q.86 fr=fafa ax o &7 Faf=al - P, Q v R g=wr 6 a9 (2013 & 2018) & iy saifdes amaeat &
3TIEA (FoTT & HEAT H) &7 290 ¢ 97 IF F YR W BT T 98 FT 3cad T

Production of electric iron ( in thousand numbers ) by three companies
P, Q and R over 6 years

55 55 55
50 50 50
45 45 45 45 45
40 40 40
35 35
30 30
. I I I I
0
16

2013 2014 2015 20: 2017 2018

Quantity in thousands
8 & 3 &

=
o

Years

mP mQ mR

{#2=T - production of electric irons (in thousand numbers) by three companies P, Q and R over 6
years - oI FHUfaEl - P, Q 3T R g@RT 6 99 (2013 & 2018) F SR Soifdesd MALAT T 3T
(F=T &1 T ), Quantity in thousands -AT =T #H}

F9elr @ & e, 2013 F 2016 & 2w sofes STRRET & sooeat & awmerT foroe wiowra & gfe g%
&

Ans x 1. 60%
v'2 50%
X 3 65%
X 4 57%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option : 2

94891112489
94891149954
94891149955
94891149956
94891149953




Q.87 fzw 717 omF F Tw FEATEF FIAT I 5 3¥ (2014 F 2018) ¥ o wfEw v (2 g9 H) {profit
(in z thousand)} =T Z=ATaT 74T &1 I F HUR W BT 7T Fo7 F Jead AT

ofit

Pr

2008

2016 2017
Years

2018

Profit in thousand ¥

o aut & chue ey dhag @ A wr t ek e ot F e s sitme @ e wr & 3
HEIHAT & Fga wa Rfee?

Ans X'1.2:3
v23:2
X3 1:2
<421
Question ID : 94891112490
Option 11D : 94891149957
Option 2 ID : 94891149958
Option 3 1D : 94891149959
Option 4 1D : 94891149960
Status : Answered
Chosen Option : 2
Q.88 frmfaf@a @mar % a¥ 2017 3R 2018 & R 9 gt (Shops) 1, 2, 3, 4, 5 & §& vaweas
7e Brw & WH (79 Fr g ) {sales (in thousand numbers)} &1 STET §| TS IEH F HTET
9T BT T 997 # IeaT &
i N
i
gt @t & ghe g 1 #r Fo R, ge ant % Se gEe 5 o et 3 Traer wlewe (@)
¥ FraT &7
Ans X 1.110%
< 2 95%
< 3. 100%
v 4 123%
Question ID : 94891112491
Option 11D : 94891149962
Option 2 ID : 94891149964
Option 3 1D : 94891149963
Option 4 1D : 94891149961
Status : Answered
Chosen Option : 4




Q.89 &y fer wram o W v TR a¥ & Shw Rafdew Ioael & smug W R g g e ww smw
TRl &1 98 W % AT WY fIT S0 9o & 3oaT &I

Machines
Tewelery 42° i

Oils 540

ofE 3@ T F T Faa WAt (machines) F A W T HI S T B s o, @A F
g weft Rl soTel & Ad W E 9 g i (FEm) S ofr?

Cereals 64°

Electronies
55

A o1 360 FE
X< 2 340 FS
X 3 320 FUS
X< 4 330 FT

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891112492
94891149968
94891149967
94891149965
94891149966
Answered

1

%0 5 47 et @ g2, Bae 3k 9= # cueg AU

Ans

X 1.2 g, 40 e, 7 UFs
X2 2 ue, 40 Aee, 47 UFs
X3 2 we, 47 BEe
v 2 ge, 28 e, 12 ¥%s
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891112479
94891149914
94891149915
94891149913
94891149916
Answered

4




Q.91 w: &t DD, MI, RCB, KKR, RR 3X CSK #r 2019 # 3a% ganr ey aiv #=it &y geam & 3mm @«
T &1 71 §1 DD & RR 3K RCB & 3foes #= ST ¢ aféeat Ml @am CSK & & 39 i §1 KKR
& Ml & 30w &7 g §; ofa CSK & &7 &7 3w ¢

forae e & sy 2
Ans X 1. KKR
K2 MI
v 2 CSK
X 4 RCB
Question ID : 94891112502
Option 1 ID : 94891150005
Option 2 ID : 94891150006
Option 3 ID : 94891150007
Option 4 ID : 94891150008
Status : Answered
Chosen Option : 3
Q.92 gfy ‘4 & a7t ‘weT &~ # Y HA=Ar ¥, % # AT mEar ik & 3 O §; o
AT sg=e &1 # AT Silaw
H(16x2)+2}+@—-3)] +1
as K12
v 4
<33
<4
Question ID : 94891112486
Option 11D : 94891149942
Option 2 ID : 94891149944
Option 3 ID : 94891149943
Option 4 ID : 94891149941
Status : Answered
Chosen Option : 2
Q.93 o @fRET g & &, OPIOIPOPPIOP # OIPOPPIOPOP| forar =am &, & 34 e smr &
WFKFKWKWFFWK =t farmr s forgm seem?
Ans of 1. FKWKWFFWKWFK
< 2 FKWWFKFWKFKW
# 3 FKWFWKWFKKWF
< 4 FKWKWFWFKFWK
Question ID : 94891112475
Option 11D : 94891149898
Option 2 ID : 94891149900
Option 3 ID : 94891149899
Option 4 ID : 94891149897
Status : Answered
Chosen Option: 1




Q.94 37 famew F1 wa FfET, TEH WY 97 F TY T T §, TG T F B T F L

Ans

aefere « Wi o B w7
P -,

v o At

X s grdvs

K 4 gaaTe

Question ID : 94891112478
Option 11D : 94891149910
Option 2 ID : 94891149909
Option 31D : 94891149912
Option 4 ID : 94891149911
Status : Answered
Chosen Option : 4
Q.95 #F =¥ 75 o FH AN TNER F BET ToaA H T A H Bret G AR w97 e ad $
Fhelia 7 &, A 98 e A F o7 A 317 AR g A A Fa & Hae - vF T H T w E
ar & FER # Hivg afEd & @ w gay 3
Sl R

v ':IJ?

< 3. == / 'fq-?l'

X 4 R
Question ID : 94891112477
Option 11D : 94891149907
Option 2 ID : 94891149908
Option 3 1D : 94891149905
Option 4 1D : 94891149906

Status : Answered
Chosen Option : 2




Q.96 R T IR THERCT F ¥, TEF AT Fr UF W0TT TN F IR T g FIr mw ¥, =6 vy

*‘Hmmm%wﬁrmwaﬁmﬁmmmmm#ﬁw:

64+2=9 4+ 5=12
I IL

743 =14 343=7
1L Iv.

Ans x 1.3
<212
V36
<49
Question ID : 94891112487
Option 11D : 94891149945
Option 2 ID : 94891149948
Option 3 ID : 94891149946
Option 4 ID : 94891149947
Status : Answered
Chosen Option: 3
Q.97 =ff 20 cm &= A TH T F 4 om T T O TA F e B orr & & = e Wi
oIE T #T FA FEA A A
ans X 1. 27
V2 125
< 3 64
< 4100
Question ID : 94891112500
Option 11D : 94891149999
Option 2 ID : 94891150000
Option 3 ID : 94891149997
Option 4 ID : 94891149998
Status : Answered
Chosen Option: 2
Q.98 uw fewa HE o &, AMFMAFAA &I FMAFAAAM e =i &, = 34 %z smer & DODADODA &t
& g orEr seem?
Ans X 1. ADODADOD
v 2. DADODADO
« 3. DODODAAD
< 4 AODADODD
Question ID : 94891112474
Option 11D : 94891149894
Option 2 ID : 94891149895
Option 3 1D : 94891149893
Option 4 1D : 94891149896
Status : Answered
Chosen Option : 2




Q.99 & T SR & T R ot 3w SEE W AER F e gu, & U A R B & @9 F gaw f
TE 9F FTTT A

HATT:
A Ted & HTeHTET Fd gY, guearay, ffler & ge =
B.fafde, g 7 A & fow 3@ 9m& 5w @
s o1
TTAT A W5TF § T ST B $HT dlcHlioe: Td HET HROT 2
X 2
UeAT B WHIT §, Wfehed UCAT A SHEHT dlchlioid Ud HET HRUT Ael gl
X 3
TTAT A THIT §, dfehel CaT B SHET Aok Ud HET HRUT e gl
X 4
TTAT A AlchITeres TF HET FNOT § 3R T B 3HFH T 2

Question ID : 94891112482
Option 1 ID : 94891149925
Option 2 ID : 94891149928
Option 3 ID : 94891149927
Option 4 ID : 94891149926
Status : Not Answered

Chosen Option : --

Q.100 few w1 = wHERUT & &, TEeT AT F Tk T qUTN % 3R W g TR AT ¥, e A ¢
® - o T FAS AT ¥ S HIUR 9T T BT # @8 3eaT A AT

7@a=s
14a=s
c@7=7
a@@b=?
Ans b b
Ko —[a + b)

a
(a- b)
ab
(ab + b)
b
ab
4, —
(a + b)

<2

¥ &}

~x

Question ID : 94891112485
Option 11D : 94891149937
Option 2 1D : 94891149938
Option 31D : 94891149940
Option 4 1D : 94891149939
Status : Answered
Chosen Option : 3
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